4

NAMIBIA UNIVERSITY
OF SCIENCE AND TECHNOLOGY

FACULTY OF MANAGEMENT SCIENCES

DEPARTMENT OF MANAGEMENT

QUALIFICATION: BACHELOR OF BUSINESS MANAGEMENT (HONOURS)

QUALIFICATION CODE: 08BBIMH LEVEL: 8

COURSE CODE: APM811S COURSE NAME: ADVANCED PROJECT MANAGEMENT
SESSION: JUNE 2019 PAPER: THEORY

DURATION: 3 HOURS MARKS: 100

FIRST OPPORTUNITY EXAMINATION QUESTION PAPER

EXAMINER(S) [J.V.0OLU 0JO

MODERATOR: | RAINER RITTER

INSTRUCTIONS

1. Answer ALL the questions.
2. Write clearly and neatly.
3. Number the answers clearly.

PERMISSIBLE MATERIALS

1. Calculators. Use of Cell Phones for calculations or any other
purpose is not permitted.

THIS QUESTION PAPER CONSISTS OF 8 PAGES (Including this front page)




SECTION A — Multiple Choice Questions (20 Marks)

1. One of the following is an anomaly among the characteristics of organizational strategy for
effective project management. Which one?
a. Strategy determines how an organization will compete
Strategy is implemented through projects
Only top management must understand strategy
Project selection should be clearly aligned with strategy
Project management plays a key role in supporting strategy
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2. The project life cycle can be used as a tool to...............
a. Help identify tasks

b. Break the project into manageable parts
c. Recycle the project

d. a+b

e. a+b+c

3. How projects should be delivered to meet strategic objective is:
a. Issues Management

Improvement of relationships and teamwork

Performance Management

Strategic Management

None of the above
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4. Work Breakdown Structure does not help to do one of the following:
indicate how schedules and costs will be managed

give visibility to important or risky work efforts

allow mapping of requirements and deliverables

foster ownership

produce key performance indices
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5. Gantt Charts will usually show:
a. Activities or tasks to be performed; duration of task and project completion
Bar charts of project risks
Charts of tasks on critical path
a+c
None of the above
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6. Shikongo, Mbapewa and Diegaart are working on a project involving the upgrading of a
management information system. The project is being managed by the information systems
department with the coordination of other departments occurring through normal
channels. They are working in a organization.

a. Functional
Balanced matrix
Weak matrix
Strong matrix
Projectized

®ao o



7. Which of the following is NOT considered to be a characteristic of a project?
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An established objective

A clear beginning and end

Specific time, cost and performance requirements
For internal use only

Something never been done before

8. The definition of Project Management is...........

a.

b.
c.
d

Application of Authority

Achievement of Top Management Objectives

Reduction of employee workload

Application of knowledge, skills, tools and techniques in order to meet or exceed
stakeholder's expectations from a project

All of the above

9. Which of the following is NOT true regarding scope creep?

Poo oo

It is when the cost of the project is more than expected

It is the tendency for the project scope to expand over time
It most likely caused by a scope statement that is too broad
It can have both positive and negative impacts on a project
It can lead to added costs and possible project delays

10. In reviewing the project plan, Susan sees that the first prototype must be completed by
October 12. This would be best classified as a

d.

® oo

Project target
Limit item
Milestone
Project objective
Critical goal

11. Which of the following does NOT help describe a bottom-up estimating approach?

a.

They are made by someone who uses experience and/or information from someone else to
determine overall project cost and duration

They establish low-cost, efficient methods for completing activities

They typically come from the people actually doing the work and who are most
knowledgeable about the task at hand

Estimates are made at the work package level and then “rolled up” to determine estimates
for major deliverables and for the project itself

They can take place after the project has been planned in detail

12. Which of the following top-down methods is used when projects closely follow past
projects in regard to features and costs of those features, and result in costs being assigned
by percentages to major segments of the project?

d.
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Apportion
Function point
Phase Estimating
Learning curve
Consensus



13. Which of the following is NOT one of the requirements for successful implementation of
strategies through projects?
a. Prioritizing of projects

b. Allocation of resources

c. Motivation of project contributors

d. Adequate planning and control systems
e. Quality management

14. At the end of a project, the earliest finish time is equal t0..........cceenuen.
a. Earliest start

Latest start

Latest finish

Earliest start + Latest finish

All of the above
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15. The Critical Path shows the.........cccooeeiiiiiiininnnns
a. Critical employees required for the project

Tasks that are critical for the project

Tasks that have no slack time

b+c

a+b+c
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16. Project Management is dependent on three variables..............
a. Cost, Time, Quality

Cost, Resources, Planning

Strategy, Scheduling, Scorecard

None of the above

All of the above
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17. One of the following is not required for integration into Project...............
a. The project must be integrated with the ongoing operations of the performing
organization
Product scope and project scope must be integrated
Deliverables from different functional specialties must be integrated
Project risks and size of project team
None of the above
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18. The output from project initiation is:

a. the project charters
the product description
list of assumptions and constraints
the appointment of a project manager
All of the above
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19. The work of a project must be integrated with the ongoing operations of an
organization.

20.

da.
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True

False

Irrelevant
Teamwork

All of the above

Which of the following statements is true about risks?

da.
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When evaluating risks, their impact should be considered, however probability of
occurrence is not important.
Risks if they happen always have negative impact and not positive.
Risk register documents all risks in detail.
Risk Response Plan is another name for Risk Management Plan
None of the above.
Sub-Total: 20 Marks



Section B — Essay Type Questions (80 Marks)

Question 1
As the project manager of the organization and you are tasked with the responsibility of
selecting a project from three proposals X, Y and Z based on the business values with the
information on hand:

a. The organization considers only projects with payback of three years and less.

b. Rate of returns not less 15%
The initial investments in the three projects X, Y and Z are N$800,000, N$500,000 and
N$400,000 and the annual savings are N$200,000, N$270,000 and N$100,000 respectively.
Using Payback, Net Present Value Methods and the table below, recommend one of the

three projects for execution and give reason for your recommendation.
20 marks
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Question 2

SHIKONGO BUILDING CONSTRUCTION COMPANY

A schedule was developed for a project to do some installations in a factory building. The
project is a rush job and the contractor has agreed to schedule the work on a single shift
basis but will work seven days per week until the job is done. The project is to begin on May
1

Activity Description Immediate
Predecessors
A Building of Internal components -
B Modify roof and floor A
C Construct Collection stack A
D Pour concrete and install Frame B
E Build high-temperature burner B
F Install Pollution control system D
G Install air pollution device E
H Inspect and Test F,G
a. Use the above activities to develop an AON network diagram
b. With the following activity durations:
i A=2wk
ii. B = 5wks
iii. C =5wks
iv. D = 3wks
V. E =7wks
vi. F = 5wks
vii. G = 5wks
viii. H = 6wks

Calculate the Earliest Start (ES), Latest Start (LS), Earliest Finish (EF) and Latest Finish (LF) and
insert in your network diagram.

C. Compute the slack or free time for all activities

d. lllustrate the critical path for the activities.

e. What date of the month can the project be completed at the earliest?

f. What date of the month can the project be completed at the latest?

g. Which date and month will be the earliest start for activity D?

h. Which date and month will be the earliest finish for activity D?

i Which date and month will be the latest start for activity G?

j Which date and month will be the latest finish for activity G?

30 marks

Question 3
Discuss the various types of methods for estimation of project cost and time. What are the
conditions that dictate the preference for each of the methods.? 20 marks
Question 4

You are planning a new project that includes 5 team members and 5 activities. These 5 team
members are the project manager, assistant, consultant, engineer and legal adviser, while
the 5 activities are named as an activity A, activity B, activity C, activity D and activity E. The



project manager is responsible for the activity A and a consultant needs to approve this
activity A. The project manager needs to approve the activity B; assistant is responsible for
the activity B, while an engineer is supporting the activity B and a legal adviser needs to be
only consulted about this. Later, the project manager is responsible and needs to approve
the activity C, a consultant and a legal adviser need to be informed about this activity.
Additionally, the project manager is responsible for the activity D and a legal adviser must be
consulted about this activity. In the end, the project manager needs to approve the activity E,
assistant is responsible and an engineer is supporting this activity.
Requirement:
You are requested to create a RASIC matrix that includes all 5 team members, their activities
and accountability as stated in the Case Study. RASIC stands for responsible, approving,
supporting, informed and consulted.
10 marks
Sub Total — 80 marks
Grand Total — 100 marks



